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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which statement is true? 

A. Source NAT with PAT is occurring 

B. Destination NAT is occurring 

C. Static NAT without PAT is occurring 

D. Source NAT without PAT is occurring 

Correct Answer: A 

 

QUESTION 2

Which two statements are true about ADVPN members? (Choose two.) 

A. ADVPN members are authenticated using pre-shared keys 

B. ADVPN members are authenticated using certificates 

C. ADVPN members can use IKEv2 

D. ADVPN members can use IKEv1 

Correct Answer: BC 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-auto-discoveryvpns.html 

 

QUESTION 3

Your organization has multiple Active Directory domains to control user access. You must ensure that security policies
are passing traffic based upon the users\\' access rights. 

What would you use to assist your SRX Series devices to accomplish this task? 

A. JATP Appliance 
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B. JIMS 

C. JSA 

D. Junos Space 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-user-authintergrated-user-
firewall-overview.html 

 

QUESTION 4

The monitor traffic interface command is being used to capture the packets destined to and the from the 

SRX Series device. 

In this scenario, which two statements related to the feature are true? (Choose two.) 

A. This feature does not capture transit traffic. 

B. This feature captures ICMP traffic to and from the SRX Series device. 

C. This feature is supported on high-end SRX Series devices only. 

D. This feature is supported on both branch and high-end SRX Series devices. 

Correct Answer: AD 

Reference: https://forums.juniper.net/t5/Ethernet-Switching/monitor-traffic-interface/td-p/462528 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. The SRX Series device is enrolled and communicating with a JATP Appliance 
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B. The JATP Appliance cannot download the security feeds from the GSS servers 

C. The SRX Series device cannot download the security feeds from the JATP Appliance 

D. The SRX Series device is not enrolled but can communicate with the JATP Appliance 

Correct Answer: CD 

 

QUESTION 6

In which two ways are tenant systems different from logical systems? (Choose two.) 

A. Tenant systems have higher scalability than logical systems 

B. Tenant systems have less scalability than logical systems 

C. Tenant systems have fewer routing features than logical systems 

D. Tenant systems have more routing features than logical systems 

Correct Answer: AC 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/tenant-
systemsoverview.html#:~:text=Although%20similar%20to%20logical%20systems,administrative%20domain % 20for%
20security%20services 

 

QUESTION 7

Click the Exhibit button. 
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Referring to the exhibit, you are attempting to enable IPsec power mode to improve IPsec VPN performance. However,
you are unable to use IPsec power mode. 

What is the problem? 

A. IPsec power mode cannot be used with IPsec performance acceleration 

B. IPsec power mode cannot be used with high IPsec maximum segment size values 

C. IPsec power mode cannot be used with advanced services 

D. IPsec power mode requires that you configure a policy-based VPN 

Correct Answer: C 

Reference: https://www.juniper.net/documentation//en_US/junos/topics/reference/configuration-statement/ security-flow-
power-mode-ipsec.html 

 

QUESTION 8
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You have a webserver and a DNS server residing in the same internal DMZ subnet. The public Static NAT addresses
for the servers are in the same subnet as the SRX Series devices internet-facing interface. You implement DNS
doctoring to ensure remote users can access the webserver. 

Which two statements are true in this scenario? (Choose two.) 

A. The DNS doctoring ALG is not enabled by default. 

B. The Proxy ARP feature must be configured. 

C. The DNS doctoring ALG is enabled by default. 

D. The DNS CNAME record is translated. 

Correct Answer: BC 

 

QUESTION 9

You are asked to implement the session cache feature on an SRX5400. 

In this scenario, what information does a session cache entry record? (Choose two.) 

A. The type of processing to do for ingress traffic 

B. The type of processing to do for egress traffic 

C. To which SPU the traffic of the session should be forwarded 

D. To which NPU the traffic of the session should be forwarded 

Correct Answer: BC 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-packet-basedforwarding.html 

 

QUESTION 10

Click the Exhibit button. 

JN0-635 VCE Dumps | JN0-635 Practice Test | JN0-635 Study Guide                              7 / 12

https://www.leads4pass.com/jn0-635.html
https://www.leads4pass.com/jn0-635.html
https://www.leads4pass.com/jn0-635.html


https://www.leads4pass.com/jn0-635.html
2024 Latest leads4pass JN0-635 PDF and VCE dumps Download

Referring to the exhibit, which two statements are true? (Choose two.) 

A. Data is transmitted across the link in plaintext 

B. The link is not protected against man-in-the-middle attacks 

C. The link is protected against man-in-the-middle attacks 

D. Data is transmitted across the link in cyphertext 

Correct Answer: BD 

 

QUESTION 11

You have configured three logical tunnel interfaces in a tenant system on an SRX1500 device. When committing the
configuration, the commit fails. 

In this scenario, what would cause this problem? 

A. There is no GRE tunnel between the tenant system and master system allowing SSH traffic 

B. There is no VPLS switch on the tenant system containing a peer It-0/0/0 interface 

C. The SRX1500 device does not support more than two logical interfaces per tenant system 

D. The SRX1500 device requires a tunnel PIC to allow for logical tunnel interfaces 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/logical-systemsoverview.html 
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QUESTION 12

Click the Exhibit button. 
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You have recently committed the IPS policy shown in the exhibit. When evaluating the expected behavior, 

you notice that you have a session that matches all the rules in your IPS policy. 

In this scenario, which action would be taken? 

A. drop packet 

B. no-action 

C. close-client-and-server 

D. ignore-connection 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-idp-policy-rulesand-
rulebases.html 

 

QUESTION 13

You are asked to merge to corporate network with the network from a recently acquired company. Both networks use
the same private IPv4 address space (172.25.126.0/24). An SRX Series device servers as the gateway for each
network. 

Which solution allows you to merge the two networks without modifying the current address assignments? 

A. persistent NAT 

B. NAT46 

C. source NAT 

D. double NAT 

Correct Answer: D 

Reference: https://kb.juniper.net/InfoCenter/index?page=contentandid=KB21286 

 

QUESTION 14

What are two important functions of the Juniper Networks ATP Appliance solution? (Choose two.) 

A. filtration 

B. detection 

C. statistics 

D. analytics 

Correct Answer: BD 
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Reference: https://www.juniper.net/us/en/products-services/security/advanced-threat-prevention/ 

 

QUESTION 15

Which three types of peer devices are supported for CoS-based IPsec VPNs? (Choose three.) 

A. branch SRX Series device 

B. third-party device 

C. cSRX 

D. high-end SRX Series device 

E. vSRX 

Correct Answer: ADE 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/secuirty-cos-basedipsec-vpns.html 
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